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The theory of universals accepted
by Plato is :

(1) Idealism

(2) Realism

(3) Nominalism

(4) Conceptualism

Bradley rejected

(1) Pluralism

(2) Hedonism

(3) Empirical epistemology
(4) All of these

Real, Universal and necessary
knowledge is found in innate
ideas alone. Who pointed this ?

(1) Descartes
(3) Leibnitz

(2) Spinoza
(4) Kant
Who said “Substance, as

understood by philosophers, is an
Unintelligible Chimera” ?

(1) Locke (2) Berkeley
(3) Hume (4) Kant
The view which explains

everything in terms of matter
and motion as the effect of
pecessary laws advocates

(1) Scienticism

(2) Materialism

(3) Communism

(4) Realism

To the question ‘Does
consciousness exist’ ? William
James replied :

(1) No, not at all.

(2) No, if by consciousness one
means some sort of entity or
mind stuff.

(3) Yes, if by consciousness one
means a functional unity.

(4) Both (2) & (3)
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Mark the correct option in the

light of Kant :

(1) Universality, Necessity &
Novelty are the criterion of

knowledge.
(2) Synthetic a priori judgement
fulfills all the required

criterion of knowledge.

(3) Knowledge appears in the
form of judgement.

(4) All of these

The philosopher who rejected the
approach of most philosophers
since Descartes who had been
trying to prove the existence of
the external world is —

(1) Berkeley (2) Locke
(3) Kant (4) Leibnitz

What does Aristotle call that
which brings about a certain
result ?

(1) Material cause

(2) Efficient cause

(8) Formal cause

(4) Final cause

What kind of object of human
inquiry does Hume think can
never imply a contradiction ?

(1) Relation of Ideas

(2) Matters of fact

(3) A priori knowledge

(4) Any object can imply a
contradiction

The truth of the conclusion of an
argument is logically derivable
from the truth of its premises. It
holds true for

(1) Coherence theory

(2) Correspondence theory

(3) Pragmatic theory

(4) None of these
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You know salt is white if and only
if salt is white. Identify the
theory of truth.

(1) Pragmatic

(2) Correspondence
(3) Logical

(4) Coherence

According to Frege the reference
of a sentence is :

(1) Objective

(2) Mental

(3) Spiritual

(4) Subjective

The technique of ‘Bracketing’ of
the factual dimension of our
experience in order to focus
attention on its essential ideal
aspect is essential feature of :

(1) Pragmatism

(2) Phenomenology

(3) Essentialism

(4) Existentialism

Which of the
philosophers
metaphysics ?
(1) Kant
(2) Hume
(38) Berkeley
(4) Ayer

below given
does not deny

Which statement is not true

about Hume’s view on substance ?

(1) Material substance exists.

(2) Indivisible, immortal, soul
substance is unknown.

(3) Idea of substance applied to
matter or mind 18
meaningless.

(4) No empirical evidence for the
existence of mental substance.
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According to philosophy
is the activity by means of which
the meaning of statements is
clarified and defined.

(1) W.V. Quine

(2) Wittgenstein

(3) A.d. Ayer

(4) Schlick

“A human being is absolutely free
and  absolutely  responsible,
anguish is the result.” Who said
this ?

(1) Sartre

(2) Camus

(8) Jaspers

(4) Nietzsche

Kierkegaard identified
possible stages that a
person can move through in their
life time.

L 2
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@) 5
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Everything tends to change, to
pass over into contradiction. This
process is

(1) Organic process

(2) Dialectical process

(3) Speculative process

(4) Abstraction process

Which statement does not hold
true for Spinoza’s conception of
God ?

(1) God is substance.

(2) God is impersonal.

(3) God has a personality.

(4) God is self-creative.
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Aristotle’s concept of causation 1s
(1) Scientific

(2) Mechanical

(3) Metaphysical

(4) None of these

Identify the theory of truth which
best characterizes the following
description :

Truth is a property of an
extensive body of inter-related
statements hence, statements
have a degree of truth and falsity.

(1) Coherence
(2) Correspondence
(38) Pragmatic
(4) Semantic theory

Existence precedes essence is the
central theme of

(1) Idealism

(2) Dialectical materialism
(3) Existentialism

(4) None of these

God is dead — who made this
statement ?

(1) Hume

(2) Francis Bacon
(3) Husserl

(4) Nietzsche

The philosophy of Hegel is known
as :

(1) Phenomenal Idealism

(2) Personal Idealism

(3) Absolute Idealism

(4) Transcendental Idealism
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It is the art of which
brings other men’s ideas to birth.
(1) Deception

(2) Oratory

(3) Intellectual midwifery

(4) Argumentation

According to Kant
judgements are always a posteriori.

(1) Analytical
(2) Synthetic
(3) Ethical

(4) None of these

Everything has a cause. How

does Kant interpret it ?

(1) It is the habit of mind.

(2) We have seen events being
preceded by causes.

3) It is a case of pre-established
harmony.

(4) It is because of the
application of the category of
causality.

. According to Berkeley

(1) Ideas but not the mind exists.

(2) Minds but not the ideas exist.

(3) Both ideas and the mind
exist.

(4) Neither ideas nor the mind
exist.

‘A good clockmaker can construct
two clocks which will keep such
perfect time that they forever
strike the hours at the same
moment’. This position is
acceptable to :

(1) Spinoza

(2) Leibnitz

(38) Descartes

(4) Locke
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To whom is this statement attributed
—“Tt is vain to do with more what can
be done with fewer” ?

(1) Frege

(2) Russel

(8) William of Ockhams

(4) Wittgenstein

Who highlighted the problem of
personal identity in his book
‘Individuals’ ?

(1) Knipke

(2) Locke

(3) P.F. Strawson

(4) Austin

Naturalism is the philosophical
belief that the world process is

(1) Purposeless and deterministic
(2) Created by God in accordance
with the laws of nature
Primarily for human beings
Only understood through
religious beliefs

3)
4)

suggests that the idea of
substance is a complex idea.
(1) Spinoza
(2) Descartes
(3) Locke
(4) Hume

Hypotheses cannot be known’ to
be true because the next study
might produce different results
that refutes the hypotheses. This
is known as :

(1) The problem of proof

(2) The problem of induction
(3) The problem of replication
(4) The problem of deduction
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Which one of the following is not

implied by Kant's Copernican

Revolution ?

(1) Rejection of Naive Realism

(2) Blindness of sensible
intrusion without concepts.

(3) Rejection of transcendental
idealism

(4) Emptiness of thought or

concepts without sensible

intuition.

Berkeley rejects

substance because

(1) it is an abstract idea.

(2) it is a pure idea.

(®) it is an immanent idea.

(4) it is given by God.

physical

Subjective idealism accepts :

(1) Object exists independent of
knowing mind

(2) Object does mot  exist
independent of knowing mind.

(3) Mind is dependent on matter.

(4) Mind and matter are
interdependent

According to Moore the definition
of good which does not commit
naturalistic fallacy is

(1) good means command of god
(2) all good actions produce pleasure
(3) good is virtuous
(4) good is indefinable

Which of the following holds true
for temperance as a virtue in
Platonic framework ?

(1) Temperance is the virtue
which only offers resistance to
the allurements of pleasure
Temperance is antagonistic to
pleasure

Temperance demands a
reasonable moderation of
reason. with the other
tendencies of human nature.
Temperance is  negative
virtue engaged only In
repressing the appetites.

@
3
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capital punishment can find
justification ?

(1) Reformative

(2) Deterrent

(3) Retributive

(4) None of these

Who said : ethical predicates are
not factual, they do not describe

any feature of the situation to
which they are applied

(1) R.M. Hare

(2) Braithwaite
(3) A.J. Ayer

(4) C.L. Stevenson

Which pair of the below given

matches is not correct ?

(1) RM.Hare — Universal
prescriptivism

(20 AJd.Ayer — Ethical
statements are

meaningless.

3) C.L. — Moral
Stevenson judgements are

commands.

4 P.H. — YEthical words
Nowell- are descriptive
Smith words.

Moral judgements are absolute.

This notion was refuted by

(1) Kant

(2) Logical Positivists

(3) Plato

(4) All of these

Which one of the following ethical
theories is a form of Ethical
Naturalism ?

(1) Emotivism

(2) Prescriptivism

(8) Utilitarianism

(4) Positivisim
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Moral sense theory represents :
(1) Philosophical intuitionism
(2) Unphilosophical intuitionism
(8) Logical intuitionism

(4) Ethical intuitionism

Which one of the ethical theories
holds that moral judgements
entail imperatives ?

(1) Emotivism
(2) Positivism
(3) Utilitarianism

(4) Prescriptivism

The element that separates
moral judgements from other
imperatives 18

(1) Principle of universality

(2) Existence of spirituality

(3) Subjectivity

(4) Commands of God

According to Kant the

characteristic =~ which  makes

willing right is

(1) it must lead to good
consequences.

(2) It ensures happiness for all.

(3) It is in accordance to the law
of land.

(4) It is in accordance to a
rational principle.

Who said ‘self-sacrifice for its

own, sake is always irrational
and immoral’ ?

(1) Bradley

(2) Hastings Rashdall
3) J4.S.Mill

(49 Kant
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The view that it is the moral duty
of an individual to seek the good
of the community as a whole is
ascribed to :

(1) Universalism

(2) Altruism

(3) Utilitarianism

(4) Hedonism

Theory which  believes in
apprehension of moral object
immediately without there being
any reasoning about it is known
as:

(1) Intuitionism

(2) Deontology

(3) Perfectiomsm

(4) Teleology

Philosophical position of T.H.
Green is :

(1) Objective Idealism

(2) Critical Idealism

(8) Subjective Idealism

(4) None of these

G.E. Moore’s refutation of

Idealism is based on which of the

following ?

(1) Distinction between mind &
matter

(2) Distinction between sense &
reference

(3) Distinction between knower

& the act of knowing

(4) Distinction between act of

awareness and object of awareness

Good is what man does actually

desire.

This statement of Mill commits :

(1) Fallacy of equivocation

(2) Fallacy of begging
question

(3) Fallacy of ambiguity

(4) Naturalistic fallacy

the
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58.

59.

60.

Which of the following definitions
is correct ?

Psychological Hedonism holds :

(1) Man naturally seeks pleasure
and shuns pain

(2) Man ought to seek pleasure

(3) Man does not naturally seek
pleasure but ought to seek
pleasure

(4) Man naturally seeks pleasure
and ought to seek pleasure

According to Butler conscience is :
(1) Intuitive

(2) Reflective

(3) Rational

(4) All of these

Good conduct for evolutionists
means :

(1) Involuntary action
(2) Survival action
(3) Habitual action
(4) Virtuous action

Which of the
statements are true ?
(1) Sidgwick held that pleasure
was the only thing of intrinsic
value.

Kant held virtue combined
with an appropriate amount of
happiness is intrinsically good.
Moore held that intrinsically
good objects are organic
wholes.

(4) All of these

following

@
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According to Hegel the highest

state of morality is :

(1) Intuitive morality

(2) Social obligatoriness

(3) Unity of Individual and social
welfare

(4) Altruism

‘My station and its duties’

Bradley implies :

(1) Each to his own

(2) Each individual has a
particular role in the society
and duties related to that
role.

(3) Each individual chooses his
own moral values

(4) Duty for duty’s sake

Boolean Interpretation of categorical

proposition does not entail :

(1) Particular propositions have
existential import

(2) A & E propositions are not an
empty class

(3) I & O propositions are not
sub-contraries

(4) A & E proposition are contraries

Name the fallacy committed by

the invalid syllogism of form :
AIO -3

(1) Illicit major

(2) Illicit minor

(3) Undistributed middle term

(4) None of these

When we assume the truth of the
very point we have set out to
prove we are committing a fallacy
which of the following is Not a
name of this fallacy ?

(1) Begging the question

(2) Petitio principii

(3) Circular reasoning

(4) Ignoratio Elenchi
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70.

Which of the following states a

valid rule of syllogism ?

(1) The minor term wmust be
distributed at least once in
the premises.

(2) No conclusion follows from
two negative premises

(3) If both the premises are

particular the conclusion

must be particular.

(4) No term can be distributed in
the premise if it is not
distributed in the conclusion.

Which class of the following
classes is complementary class of
the class of fathers ?

(1) the class of mothers

(2) the class of children

(3) the class of parents
(4) the class of non-fathers

~pv@=(p-~Isit:
(1) Logically equivalent ?
(2) Materially equivalent ?

(3) Logically
equivalent

(4) Neither of the two

and materially

In a conditional statement,
unless means if not and
introduces

(1) Negation

(2) The conjunct
(3) The consequent
(4) The antecedent

Propositional logic uses symbols
to stand for statements and
(1) Non-statements
(2) Truth values
(8) The relationships
subject & predicate
(4) The relationships
statements

between

between
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72.

73.

In a deductive argument the
relationship between premises
and conclusion is of

(1) Conjunction
(2) Implication
(3) Hypotheses
(4) None of these

In a valid categorical syllogism

major term is the

(1) Subject term in the minor
premise

(2) Predicate term in the major
premise

(3) Subject term in the conclusion

(4) Predicate term in the
conclusion

Categorical proposition may refer to :
(1) All members of a class.

(2) Some members of a class

(8) Both all & some members

(4) Neither all nor some members

The Amazon Basin produces
roughly 20% of the Earth's
oxygen, creates much of its
rainfall and harbours many
unknown species. This sentence
asserts :

(1) Single proposition

(2) Conjunction of 3 propositions
(8) Conjunction of 2 propositions
(4) None of these

. Which of the following

statements is not true ?

(1) All valid arguments contain
only true propositions.

(2) An argument may be valid
even if one or more of its
premises is not true.

(3) An argument can be valid
with two false premises and a
true conclusion.

(4) The fact that an argument is
valid does not guarantee the
truth of its conclusion.
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All compound propositions assert
the truth of their components.
Isit:

(1) always true ?

(2) always false ?

(3) Sometimes true, sometimes false
(4) None of these

@ @,>M)
Which kind of traditional
categorical proposition 18

expressed in the above mentioned
symbolic form :

a1 A (2) E

@I 4 O

~@P-gd=~pv~q

Thisis :

(1) Rule of distribution

(2) Rule of De Morgan

(3) Rule of Material Implication
(4) Commutation

Which of the following
propositions is tautology ?

M evad—a

) pv@—-p)

G pve—>9

(4) Both (2) and (3)

Which law of thought is symbolically
represented by pv ~p ?

(1) Law of contradiction

(2) Law of identity

(8) Principle of excluded middle
(4) None of these

On the ground of relation
propositions are divided into :

(1) Necessary and problematic
(2) Categorical and conditional
(3) Affirmative and Negative

(4) Universal and Particular
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. The four truth

. Correct

A necessary condition for the
occurrences of a specified event 1s
a circumstance : ,

1)

In whose presence the event
cannof occur

(2) In whose absence the event
cannot occur

(3) No circumstance is essential
(4) None of these

We fall into fallacious appeal to

authority by :

(1) Checking
credentials.

(2) Regarding a non-expert as an
expert.

(3) Regarding an expert as a
non-expert.

4)

None of these
The Venn diagram of categorical
syllogism exhibits the mood

an experts

M
(1) AAE-1
(3) AEE -1V

(2) EAE-II
4) AAA-1T

connectives are :

(1) Conjunction, conditional,
compound and disjunction

(2) Conjunction, disjunction,
conditional, logical equivalence

(3) Conjunction, negation,
disjunction & conditional

(4) Conjunction, disjunction,

material implication and

bi-conditional

symbolization of
statement — It is false that he is
poor but not honest is :

D ~@e-~0 (@) ~p-~q

@) ~p>~a9 @ ~p>~4
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Common valid argument forms

are :

(1) Disjunctive syllogism,
hypothetical syllogism and
categorical syllogism

(2) Modus ponens, Modus
Tollens, Hypothetical
syllogism and disjunctive
syllogism

(3) Both (1) and (2)

(4) Neither (1) nor (2)

Who is the founder of Modern
Logic ?

(1) Gottlob Frege

(2) George Boole

(3) De Morgan

(4) None of these

Hindustan Lever is a very
important corporation and Mr.
Sen is an official of that
corporation therefore, Mr. Sen is
very important person.

Identify the fallacy committed :
(1) Accident

(2) Converse accident

(38) Division

(4) Composition

function 1s
following

What linguistic
involved in  the
expression ?

Come to the window
The sea is calm tonight
(1) Informative

(2) ‘Directive

(3) Informative & Directive
(4) Expressive & Informative

If R is a relation from A to B then

A & Bare

(1) A can be empty B non-empty.

(2) A can be non-empty & B
empty.

(3) Both are non-empty.

(4) Both are empty.
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negation of the

Truth table method is a powerful

tool to :

(1) Test the validity of every
truth-functional argument.

(2) Test the wvalidity of any
argument.

(3) Assign truth value to only
simple statements.

(4) All of these

Write the

statement :

If it is raining, you take your

umbrella.

(1) It is raining and you do not
take your umbrella.

(2 If it is raining, you do not
take your umbrella.

(8) It is not raining and you do
not take your umbrella.

(4) Tt is not raining & you take

your umbrella.

If proposition P is true, Q is false
& R is true which of the following
is true :

1) P-Q-R

2 P ~Q-R

@ ~P-Q-R

4 P-Q ~R

An argument involving

quantifiers is invalid if :

(1) There is a possible universe
containing at least one

individual such that premises
are true and its conclusion false.
There is a model in which
any one premise is false and
conclusion false too.

There is a model containing
all individuals such that
premises are true and its
conclusions are false.

(49) None of these

@
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Let A and B be two non-empty
relations on a set S. Which of the
following statements is false ?

(1) A& Bare=> AN Bis

transitive transitive
2 A & Bare=> AU Bis
symmetric symmetric
3) A & Bare=> AU Bis
transitive not
transitive
4) A& Bare™=> AN Bis
reflexive reflexive

Let X be a family sets and R be a
relation in X, defined by ‘A is
disjoint from B’ : Then ‘R’ is

(1) Reflexive

(2) Symmetric

(3) Anti-Symmetric

(4) Transitive

Which of the following two sets
are equal ?

(1) A={1, 2} and B= {1}

(2 A={1,2}and B=1{1,2, 3}

(3) A={1,2,3}and B={2,1,3)
(4) A={1,2, 4and B={1,2,3}

State the contrapositive of the
following proposition :

All gentlemen are non-degenerates.
(1) All gentlemen are degenerates

(2) No gentlemen is non-non-
generates

(8) All degenerates are non-
gentlemen

(4) All non-degenerates are non-
gentlemen

100. Validity for logicians is applicable to :

101. There

(1) Any argument

(2) Hypothetical syllogism
(3) Inductive argument
(4) Deductive argument

are rules of
inference to prove the validity of
deductive arguments.

(1) 19 ) 09

3) 10 4) 02
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102.

103.

104.

105.

106.

What holds true for argument by

analogy ?

(1) There are premises and a
conclusion.

(2) Probability is all that is

claimed for them.

It is the most common type of
inductive argument.

All of these

®3)
4

The declarative sentences to
which it is possible to assign one
and only one of the two possible
truth-values are called :

(1) Conjunctions (2) Disjunctions
(3) Statements (4) Connectives

What does not hold true of
propositional logic ?
(1) We can represent relations
like all, some or none with
propositional logic.
It has limited expressive
ower.

propositional logic, we
cannot describe statements
in terms of their properties or
logical relationships.
Propositional logic consists of
an object, relations and
logical connectives.

Social inequality in a society
occurs when
(1) Resources in a given sociely

@)
3

4)

are unevenly distributed
along links of caste, religion
gender etc.

(2) There is discrimination based
on income.

(3) There is a gap between rich
& poor.

(4) None of these

What was the immediate purpose

of the Commission on Human

Rights ?

(1) To draft the Universal
Declaration of Human Rights.

(2) To organize peace-keeping
force in the Congo.

(3) To prosecute military dictators

(4) None of these
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107. All the properties of a given

108.

109.

110.

system cannot be determined by
its component parts alone but are
determined by the system as a
whole. This is the essence of
which philosophy ?

(1) Atomism (2) Reductionism
(3) Holism (4) Idealism

A difficulty with the application

of virtue ethics is

(1) The applicable
imperatives

(2) The applicable principle of
rights

(8) The lack of agreement

regarding which rules on

balance produce the greatest

amount of pleasure for the

greatest number of people.

The lack of agreement about

the meaning of the good life.

categorical

4

Medical ethics rests on four main

principles

(1) Autonomy, Confidentiality,
Beneficence and Non-
Maleficence

(2) Autonomy, Consent, Respect
for life and Justice

(3) Autonomy, Justice,
Beneficence and Non-
Maleficence

(4) Consent, Justice, Transparency
and respect for life

According to most contemporary

feminists what is gender ?

(1) A natural behaviour linked to
someone’s sex.

(2) One’s biological sex

(3) An identity one can choose at
will

(4) A social and cultural construct
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Karl Popper argued for which of
the following views ?

(1) Knowledge is only science if
it is falsifiable.

(2) Scientific statements cannot
be falsified.

(3) Scientific laws and scientific
trends are really the same
things.

(4) Anything goes when it comes
to scientific methodologies.

Which of the following is most

closely associated with the views

of Thomas Kuhn ?

(1) The observation of paradigm
shifts in science

(2) Science as social knowledge

3

Permanent standards of
CY

assessing scientific claims
None of these

The first phase of feminism in
India started in mid - 19t
century was initiated to

(1) uproot the social evils of sati.
(2) to allow widow remarriage

(3) to reduce illiteracy & ensure
property rights

(4) All of these

Second maxim of Kant to freat

humanity always as an end and
never as a means only implies :

(1) Human  beings deserve
respect

(2) Entitlement to certain basic
rights

(3) People as things of value in
themselves apart from the
services that they render us.

(4) All of these
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Primary feature of structuralism

is :

(1) Attacking any thought that
claims to have a firm
foundation on which we can
construct beliefs.

(2) Truth is not something we
discover or can own.

(3) Truth is a structure which
society invents.

(4) All of these

The name associated with
deconstructionalism  in  post
structuralism beginnings is

(1) Sartre (2) Derrida

(3) Freud (4) Levi-Strauss

Business Ethics is the study of :

(1) Morally right and wrong in
business.

Business situations, activities
and decisions where issues of
right and wrong are addressed.
Commercially and financially
right or wrong

Both (1) and (2)

@)

3
)

Business Ethics results in a set of

decisions :

(1) Always financially beneficial

(2) In the interest of all stake
holders

(3) Always in accordance to law
of land

(4) None of these

Environmental Ethics finds

virtue in :

(1) Saving and Recycling
Resources

(2) Rejection of unnecessary
consumption and
extravaganza.

(8) Fostering consideration for

the interests of all sentient
creatures
(4) All of these
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What does life-centered
environmental ethics believe
about the value of various parts
of nature ?

(1) Human life is the most
valuable.

(2) Human life is the Jeast
valuable.

(3) Lives of creatures with
conscious awareness are
more valuable.

(9 All living things have
intrinsic value.

The personal is political. Is it :

(1) Title of an essay

(2) Slogan of second wave of
feminism

(3) Neither (1) nor (2)

(4) Both (1) &(2)

Social rights which form a part of
Universal Declaration of Human
Rights (1948) address cover
which of the following aspects ?
(1) Housing (2) Food

(3) Education (4) All of these

Feminists argue that women’s

values are based primarily on

(1) Prescribed social roles

(2) Biology & prescribed social
roles

(3) Biology

(4) None of these

Liberal Feminism really began
with :

(1) Second wave feminism

(2) First wave feminism

(8) The Second World War

(4) The Great Depression
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Which of the following is not true ?
(1) Pythagoras held that
universe 1is a  concrete
substance.

Atomists held that something
is permanent and something
changes.

Parmenides held that being
is permanent.

Hereclitus held that being is
in constant change.

)

3
@

A question and answer dialogue
in which propositions are
methodically scrutinized to
uncover the truth is known as —
(1) Dialectic method

(2) Socratic method

(8) Inductive method

(4) Deductive method

To this philosopher the process of
learning could be put into these
three categories Theoretical,
Practical & Productive

(1) Socrates

(2) Plato

(3) Aristotle

(4) Thomas Aquinas

What kind of reality according to
idealists the idea of God i1s ?

(1) Modal objective reality
(2) Infinite formal reality
(3) Finite formal reality

(4) Infinite objective reality

Whose is the metaphysical
system that reconstructs the
universe into a harmonious whole
from a single piece ?

(1) Bishop Berkeley

(2) Leibnitz

(3) Friederich Hegel

(4) Immanuel Kant
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Leibnitz tried to bridge the gulf

between mind and matter through

(1) Doctrine of pre-established
harmony

(2) Law of Continuity

(38) Law of Individuality

(4) Doctrine of Monads

According to Hume, “We can go
beyond the evidence of our
memory and senses by .
(1) Intuition

(2) Reason

(3) Relation of causation

(4) Inference

Descartes ‘Meditation’ that led
him to conclude that perhaps
even mathematical laws are not
true is referred to as

(1) The Evil demon argument

(2) The foundationalism argument
(3) The Cartesian argument

(4) The cosmological argument

According to the ideas of
imaginations are produced by us
and real perceptions are
produced by God.

(1) Berkeley (2) Locke

(3) Hume (4) Plato

What point of view is central to
the phenomenological method ?
(1) Third person point of view

(2) First person point of view

(3) Second person point of view
(4) Absence of point of view

Who is widely known as first
existentialist despite never having
used the word existentialism ?

(1) Jean Paul Sartre

(2) Soren Kierkegaard

(3) Albert Camus

(4) Nietzsche

46



136.

137.

138.

139.

46

SRS FAIG S STTR :
(1) T TEHTEa: FER R
@ TaEifae |

(3) urET fRafa sidd 2 o
(4) wog Sfte 1 Ag T # |

Teganiedl % IER T 2

(1) sifeaa

(2) @A

(3) sm@Eu=

(4) T A BT

fedas oo T ?

(1) AT - TR, AW,
fereames ESIE |

@ verEd - ™, s,
T TS, W

(3) JEWEEI]  — Wi, Sbel, WM
ferare

@ e — IHwd, wgfeie,
foams famsn

7 3V 2 e o6 Bt 1 O e %

SR S Aha e S R T A enfgmg A @ |

JrareTg N A A g W R 1T |

P id g ? :

(1) & giouriza R S awar g |

@) w* e sl s s anE e |

(3) M W PRy Yo % SWd |
AT R |

(4) S i 3eg W} T g & i i
i Rt w5 3fe war 2

piciie kA

Sl et

29

136.

137.

138.

Existential Nihilism insists that
(1) Humans are naturally
co-dependent

Knowledge is limited

The human condition has no
meaning

Death is not the end

@
6]

@

According to skepticism knowledge
18

(1) Unecertain
(2) Possible

(3) Not possible
(4) None of these

Which of the following grouping
is not correct ?
(1) Existential — Heidegger,
thinkers Jaspers,
Sartre
(2) Idealist — Hegel,
thinkers Bradley, A.J.
Ayer
(3) Empirical -~ Locke,
thinkers Berkeley,
Hume
(4) Rationalist — Descrates,
thinkers Leibnitz,
Spinoza
. Tt is impossible to form an idea of

a triangle which is neither

equilateral nor isosceles nor

scalene. This view is the same as

saying that

(1) There can be an imageless
thought

(2) It is possible for the mind to

form any kind of abstract

idea

General ideas exist over and

above particular ideas.

Any word used for

designating the common

features of a class of things is

a mere name

3
C))
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The theory which restricts our
knowledge to phenomenal
appearances of an inaccessible
reality is

(1) Phenomenalism

(2) Absolute Idealism

(3) Phenomenology

(4) Subjective Idealism

From what theory does Russell

draw his theory of universals ?

(1) Berkeley theory of Ideas

(2) Hegel's theory of
Universe

(3) Plato’s theory of Ideas

(4) Socrates theory of knowledge

the

Which of the following is the

version of the Cogito ?

(1) I think I walk therefore I am.

(2 1 think I walk therefore I
walk.

(3) I walk therefore I am.

(4) I walk therefore I walk.

Spinoza’s method 1s

(1) Axiomatic and Geometrical
(2) Geometrical

(3) Mathematical

(4) Transcendental

A theory is a conclusion whereas
a method is a
(1) Inference
(3) Procedure

(2) Style
(4) Manner

According to logical positivists a
sentence like ‘a soul is unified
and indivisible’ is
(1) a part of religion rather than
philosophy
(2) meaningless
(3) imprecise and needs to be
restated in definite language
(4) an example of what makes
philosophy worthwhile
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According to Plato, why do people
live happily in ignorance ?

(1) Because ignorance is all they
know

Because ignorance is bliss.
Because it is better to live in
ignorance but happy than in
knowledge & unhappy
Knowledge brings sadness &
ignorance gives power

@)
3

(4

According to , the structure
of language is determined by the
structure of reality.

(1) Husserl (2) Wittgenestein
{8) Carnap (4) Russell
The dictum ‘Know thyself is

attributed to :
(1) Protagoras (2) Socrates
(8) Anaxagoras (4) Sophists

According to Austin, the act of
doing something by saying
something is called :

(1) Locutionary act

(2) Illocutionary act

(3) Perlocutionary act

(4) None of these

Which one of the following

statements is not admitted by Plato ?

(1) Universals are unchanging
and eternal.

(2) Universals are more real
than particulars.

(3) Universals have an

independent existence while

particulars have only a

borrowed existence.

Universals can exist only in

particulars.

@
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